
SAP ABAP table DITSL {SDB: Dialog Table Solution Linked to an Item}

DITSL

CLIENT [CLNT (3)]

ISLNR [CHAR (12)]

LANGU [LANG (1)]

ISLTP [CHAR (2)]

RBNR [CHAR (9)]

ISLART [CHAR (2)]

TKCAT [CHAR (2)]

ACTCAT [CHAR (2)]

CRMC_SUBJPROFILE

CLIENT [CLNT (3)]

SUBJECT_PROFILE [CHAR (9)]

 DITSL-RBNR = CRMC_SUBJPROFILE-SUBJECT_PROFILE 
0..N

{0,1}

ISOL

CLIENT [CLNT (3)]

ISLNR [CHAR (12)]

ISLVR [NUMC (3)]

 DITSL-ISLNR = ISOL-ISLNR 
0..N

1

T000

MANDT [CLNT (3)]
 DITSL-CLIENT = T000-MANDT 

0..N

1

T002

SPRAS [LANG (1)]
 DITSL-LANGU = T002-SPRAS 

0..N
1

T0KBB

CLIENT [CLNT (3)]

ISLTP [CHAR (2)]

 DITSL-ISLTP = T0KBB-ISLTP 

0..N

{0,1}

T0KBF

CLIENT [CLNT (3)]

ISLTP [CHAR (2)]

ISLART [CHAR (2)]

 DITSL-ISLART = T0KBF-ISLART 

0..N

1

TQ15

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

 DITSL-ACTCAT = TQ15-KATALOGART 

0..N

0..N

 DITSL-TKCAT = TQ15-KATALOGART 

0..N

0..N


